
MOTOR 150 - MOTOR 150 BALANCEADO : GRUPO CABEZA DE CILINDRO
 

GRUPO CABEZA DE CILINDRO

  

 

Rating: Not Rated Yet 
Price: 
Variant price modifier: 

Base price with tax: 

Price with discount: 

Salesprice with discount: 

Sales price: 

Sales price without tax: 

Discount: 

Tax amount: 

Ask a question about this product  

 

Description Ref. Título Código
1 GUIA

VALVULA
DE

ADMISION

7-12214

2 GUIA
VALVULA

DE
ESCAPE

7-12215

3 CILINDRO 7-12110
4 JUNTA

CILINDRO
7-12121

5 CABEZA
DE

CILINDRO
RX 150

17-12210

5 CABEZA
DE

CILINDRO
P.EAGLE

150

7-12210

6 JUNTA
CABEZA

DE
CILINDRO

7-12220

                        1 / 3

https://cprrepuestos.com.ar/images/stories/virtuemart/product/grupo cabeza de cilindro35.jpg


MOTOR 150 - MOTOR 150 BALANCEADO : GRUPO CABEZA DE CILINDRO
 

Ref. Título Código
7 TAPA

CABEZA
DE

CILINDRO

7-12311

8 JUNTA
TAPA

CABEZA
DE

CILINDRO

7-12312

9 EMPALME 7-17310
10 TORNILLO

M6 X 20

11 7-GB/T899

12 7-12237

13 TORNILLO 7-12313

14 7-12345

15 7-12315

16 7-12236

17 O-RING
CABEZA

DE
CILINDRO

7-12216

18 TORNILLO
M6 X 12

19 TORNILLO
M6 X 20

20 TORNILLO
M6 X 35

7-GB/T900

21 O-RING
33.5 X 3

7-17321

22 TUERCA
M6

23 PERNO 10
X 20

7-12218

24 TORNILLO
M6 X 28

25 BUJIA
(D8TC)

7-34210

26 JUNTA CO 7-20661

                        2 / 3



MOTOR 150 - MOTOR 150 BALANCEADO : GRUPO CABEZA DE CILINDRO
 

Ref. Título Código
NDUCTO
DE AIRE

27 TORNILLO
M6 X 14

28 7-20650

 

 

 

 

 

 

 

 

 

 

Powered by TCPDF (www.tcpdf.org)

                        3 / 3

http://www.tcpdf.org

